Accessories

Link Clamp Index Model No. Indication | Performance | External Air Sensing | Lever Design Cautions {
Digest Cross Section | Specifications Curve Dimensions Option Dimensions P.715 ‘ ‘K.SMEK

Harmony in Innovation

. . . . High-Power
@ Accessories : Material Link Lever Series

Pneumatic Series

go B Hydraulic Seri
s

Model No. Indication
E

Valve /Coupler
Hydraulic Unit

@ MH7 [9) ’CW L Z K m 0 - L Manual Operation
Size Design No. Accessories
O

(Refer to the table.) (Revision Number)

Cautions / Others

+
K L002

Hole Clamp
SFA
(mm) SFC
Model No. LZK0360-L | LZK0400-L | LZK0480-L | LZK0550-L | LZK0650-L | LZK0750-L | LZK0900-L | LZK1050-L  Swing Clamp
Corresponding ModelNo. | LKAO360 LKA0400 LKA0480 LKA0550 LKA0650 LKA0750 LKA0900 LKA1050 LHA
A 65 75 85 90 105 10 160 220
108, 12.95 123, 1695 1995 22 ¢, 258, 329, thw
12,5 14 16 20 25 32 38 45 LG/LT
5 6 6 8 10 1 13 16 TLA-2
12,5 14.5 16 16.5 21 255 30.5 36 %
R2.5 R3 R3 R4 R5 R5.5 R6.5 RS

10 12 13 13 175 2 26 305
45 55 6 6 8 10 1 13 LKA

LKC
14.5 16 18.5 21 245 30 36 44 LKW

4.5 55 6 6 8 10 n 13 LJ/LM

2.5 2.5 35 6 7.5 9.5 13 16 IMA-2
5 +8Ao12 6 +8A012 6 +8.012 6 +8A012 8 +8,o15 10 +8Ao15 12 +8.018 15 +8,o13 TMA-1

ZIZ x|« |T|Io|mmO|Nn|wm

5 +8,012 6 +0,(())12 6 +3.012 8 +8A015 10 +8.015 12 +84018 15 +3.018 18 +8,018 Work Support

LD
Notes : Lc

1.Material S45C  Surface Finishing : Alkaline Blackening TNC
2.1f necessary, the front end should be additionally machined and finished. TC
3.For E Option Blank/H/K, use the attached pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60) as the lever mounting pin. Air Sensi
4.For [ Option A, the lever mounting pin is not included in the clamp. Lilfrt Cenyn'Zir
Please order Tightening Kit for Quick Change Lever Option A (LZK[_1-W). LLW
5.When using Tightening Kit for Quick Change Lever Option A (LZK[C_1-W), a tapped hole should be additionally machined. ) _
. . . . . L Linear Cylinder /
Refer to the link lever design dimensions (P Thread part) for additional machining. Compact Cylinder
LL
LLR
LLU
DP
DR

@ Accessories : Tightening Kit for Quick Change Lever Option A DS

DT

Model No. Indication Block Cylinder

LZK 040 0 - W el " omwosc
Size 1 Design No. --r -----

(Refer to the table.) (Revision Number)

Centering Vise
FVA

FVD

Bolt
. FvC
Lever Pin

Hex. Socket

Cover
Tightening Kit for mounting Quick Change Lever Option A. Control Valve
BZL
Sold separately from clamp body. Rod Pin BZT
. BZX/JZG
[Contents of Tightening Kit] Link Lever e
+ Cover (with Bolt) + Rod Pin -« Lever Pin
Pallet Clamp
VS/VT
Model No. LZK0360-W | LZK0400-W | LZK0480-W | LZK0550-W | LZK0650-W | LZK0750-W | LZK0900-W | LZK1050-W Ejfg:g;‘;f;m
Corresponding Model No. | LKA0360-[1-A |LKA0400-[]-A |LKA0480-[-A | LKA0550-[1-A | LKA0650-[]-A | LKA0750-[]-A |LKA0900-[1-A | LKA1050-[1-A VFL/VEM
NominalXPitch of Bolt M3X%0.5 M3X%0.5 M3X%0.5 M3X%0.5 M4x0.7 M4x0.7 M5X%0.8 M5X%0.8 VFJ/VFK
Hex. Socket mm 25 2.5 25 2.5 3 3 4 4 pull Stud Clamp
Tightening Torque N+m 1.3 13 13 1.3 32 32 6.3 6.3 Fp
FQ
Customized
Spring Cylinder
DWA/DWB

636



Link Clamp Cross Section | Model No. Indication | Performance |  External Lever Design : Cautions {
Digest P.607 ndex Action Description | Specifications Curve Dimensions | Dimensions Accessories P.715 ‘ ‘ Harmony in Innovation

. . . High-Power
@ Accessory : Material Link Lever Series

Pneumatic Series

- §DOI - ;;F\;‘
Model No. Indication Valve /Coupler
E A Hydraulic Unit
@ MH7 dNH7 L Z K O 4 8 0 - L Manual Operation
Size Design No. Accessories
] (Refer to the table.) (Revision Number)
) _ oS Cautions / Others
“ o }\ {§7 ﬂjv
N =
Hole Clamp
H—p J£002 SFA
(mm) L
Model No. LZK0400-L LZK0480-L LZK0550-L LZK0650-L Swing Clamp
Corresponding ModelNo. | LKC0400 LKC0480 LKC0550 LKC0650 _tha
A 75 85 90 105 e
0 0 0 0 _Hs
B 12 03 12 03 16 03 19-03 LHW
C 14 16 20 25 LG/LT
D 6 6 8 10 TLA-2
E 14.5 16 16.5 21 1162
TLA-1
F R3 R3 R4 R5 —
G 12 3 E 175
LKA
H 5.5 6 6 8 TKG
J 16 18.5 21 24.5 Tw
K 55 6 6 8 LJ/LM
L 2.5 3.5 6 7.5 (TMA-2
M 6 *o012 6 *0012 6 *g012 g +00'5 TMA-1
N 6 *0012 6 *0012 g 9015 107905 Work Support
LD
Notes : c
1.Material S45C  Surface Finishing : Alkaline Blackening NG
2.1f necessary, the front end should be additionally machined and finished. TC
3.For [E] Option Blank/H/K, use the attached pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60) as the lever mounting pin. ) )
. . L . . Air Sensing
4.For [E] Option A, the lever mounting pin is not included in the clamp. Lift Cylinder
Please order Tightening Kit for Quick Change Lever Option A (LZK[_1-W). LW
5.When using Tightening Kit for Quick Change Lever Option A (LZK[C_1-W), a tapped hole should be additionally machined. ) )
Refer to the link lever design dimensions (P Thread part) for additional machining. E'g;agaccil'cnyﬂ%/er
LL
LLR
LLU
DP
DR
@ Accessories : Tightening Kit for Quick Change Lever Option A DS
DT
Model No. Indication B Block Cylinder
[ S— . g ~ DBA/DBC
LZK 040 0 - W , 3 o
N TNy s % o
Size Design No. ’> % M
(Refer to the table.) (Revision Number) FVA
| FVD
Bolt
Cover Lever Pin Fve
Tightening Kit for mounting Quick Change Lever Option A. Control Valve
BZL
Sold separately from clamp body. Rod Pin BZT
) BZX/JZG
[Contents of Tightening Kit] Link Lever BZS
+ Cover (with Bolt) + Rod Pin -« Lever Pin
Pallet Clamp
VS/VT
Expansion
Model No. LZK0400-W | LZK0480-W | LZKO0550-W | LZK0650-W Locating Pin
Corresponding Model No. | LKC0400-[]-A |LKC0480-[1-A | LKC0550-[]-A | LKC0650-[1-A VFL/VFM
NominalXPitch of Bolt M3X0.5 M3X0.5 M3X0.5 M4x0.7 VFJ/VFK
Hex. Socket mm 2.5 2.5 2.5 3 pull Stud Clamp
Tightening Torque N+m 1.3 13 1.3 3.2 Fp
FQ
Customized
Spring Cylinder
DWA/DWB

650



Features

@ Accessory : Material Link Lever

Model No. Indication
Specifications

Curve

Performance

External
Dimensions

Lever Design
Dimensions

Accessories

048

Size
(Refer to the table.)

o 5] fFs
: Model No. Indication
A
@ MH7 @ NH7 L Z K
e !
N =
H| J*002
(mm)
Model No. LZK0360-L LZK0400-L LZK0480-L LZK0550-L LZK0650-L
Corresponding Model No. LKK0360 LKK0400 LKK0480 LKKO550 LKK0650

A 65 75 85 90 105
B 106, 126, 125, 168 19 0,
C 12.5 14 16 20 25
D 5 6 6 8 10
E 12.5 14.5 16 16.5 21
F R2.5 R3 R3 R4 R5
G 10 12 13 13 17.5
H 4.5 55 6 6 8
J 14.5 16 18.5 21 24.5
K 4.5 5.5 6 6 8
L 2.5 2.5 3.5 6 75
M 5 +0012 6 *0012 6 +0012 6 0012 g +0015
N 5 +0012 6 +0012 6 +0012 g 0075 10 +0075

Notes :

1.Material S45C  Surface Finishing : Alkaline Blackening

2.1f necessary, the front end should be additionally machined.

3.For 1 Option Blank/K, use the attached pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60) as the lever mounting pin.

4.For [Z1 Option A, the lever mounting pin is not included in the clamp.
Please order Tightening Kit for Quick Change Lever Type A (LZK[1-W).

5.When using Tightening Kit for Quick Change Lever Type A (LZK[__1-W), a tapped hole should be additionally machined.
Refer to the link lever design dimensions (P Thread part) for additional machining.

@ Accessory : Tightening Kit for Quick Change Lever Type A

Model No. Indication

LZK

040

Size
(Refer to the table.)

0

- W

Design No.

(Revision Number)

Cautions

([ KOSMEK

Harmony in Innovation

O-L
1 Design No.

(Revision Number)

e
Hex. Socket

Cover
Tightening Kit for mounting Quick Change Lever Type A.
Sold separately from clamp body. Rod Pin
[Contents of Tightening Kit]
- Cover (with Bolt) - Rod Pin - Lever Pin

Model No. LZK0360-W | LZK0400-W | LZK0480-W | LZK0550-W LZK0650-W
Corresponding Model No. | LKK0360-[1-A | LKK0400-[J-A | LKK0480-[J-A | LKK0550-[J-A | LKK0650-[1-A
NominalXPitch of Bolt M3X0.5 M3X0.5 M3X%0.5 M3X0.5 M4x0.7
Hex. Socket mm 2.5 2.5 2.5 25 3
Tightening Torque N+m 13 13 13 13 3.2

Lever Pin

Link Lever



) Action Model No. Indication | Performance External Lever Design Dimensions ) {
Features Cross Section S e : . ] Cautions KHOSMEK
Description | Specifications Curve Dimensions Accessories ‘ ‘ E

Harmony in Innovation

@ Accessory : Material Link Lever

Accessories

§°$ o Cautions
©l " ‘ Y
Model No. Indication
E 1-Port Sensing

® MH7 ¢[\A|H7 LZK m O -_— L Swing Clamp
Size 1 Design No. I

S (Refer to the table) (Revision Number)
I e
\\J 4 1-Port Sensing
Lift Cylinder
HJ, J 002 LLV
(mm)
Model No. LZK0400-L LZK0480-L LZK0550-L LZK0650-L LZK0750-L
Corresponding Model No. LKV0400 LKV0480 LKV0550 LKV0650 LKV0750
A 75 85 90 105 110
B 12.3, 12.5 1603 1903 22 ¢,
C 14 16 20 25 32
D 6 6 8 10 n
E 14.5 16 16.5 21 25.5
F R3 R3 R4 R5 R5.5
G 12 13 13 175 22
H 55 6 6 8 10
J 16 18.5 21 24.5 30
K 5.5 6 6 8 10
L 2.5 3.5 6 75 9.5
M 6 +8,o12 6 +8,o12 6 +8Ao12 8 +8A015 10 +8.o15
N 6 *9072 6 T0012 g 0075 107997 12 008

Notes :
1. Material : S45C  Surface Finishing : Alkaline Blackening
2. If necessary, the front end should be additionally machined.
3. For Clamp Body [l Blank/H/K, please use the attached pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60) as the mounting pin for lever.
4. For Clamp Body [} A, the mounting pin for lever is not provided with the product.
Please order the Setup Kit for the Quick Changer Lever Type A (LZK[1-W).
5. When using Tightening Kit for Quick Change Lever Type A (LZK[J-W), a tapped hole should be additionally machined.
Refer to the link lever design dimensions (P Thread part) for additional machining.

@ Accessory : Setup Kit for Quick Change Lever Type A

Model No. Indication

LZK @ 0 - W - T
Size | DesignNo. I

(Refer to the table.) (Revision Number)

Hex. Socket

Lever Pin

Cover
Setup Kit for mounting Quick Change Lever Type A.

Sold separately from clamp body. Rod Pin

[Contents of Setup Kit] Link Lever

+ Cover (with Bolt)  + Rod Pin  + Lever Pin

Model No. LZK0400-W | LZK0480-W | LZK0550-W | LZK0650-W | LZK0750-W
Corresponding Model No. LKV0400-[1-A | LKV0480-[1-A | LKV0550-[1-A | LKV0650-[1-A | LKV0750-[1-A
NominalXPitch of Bolt M3%0.5 M3x0.5 M3x0.5 M4x0.7 M4x0.7
Hex. Socket mm 2.5 2.5 2.5 3 3
Tightening Torque N-m 1.3 13 13 32 3.2

40



Accessories

Link Clamp Index Action Model No. Indication | Performance |  External Lever Design Cautions {
Digest P.607 | Cross Section | Description | Specifications Curve Dimensions | Dimensions P.715 ‘ ‘K.SMEK

Harmony in Innovation

. . . High-Power
@ Accessory : Material Link Lever Series

Pneumatic Series

go B Hydraulic Seri
s

Model No. Indication
E

Valve /Coupler
Hydraulic Unit

& MH7 ¢[CH7 L Z K O 4 8 0 - L Manual Operation

Size Design No. Accessories
S (Refer to the table.) (Revision Number)
) o Cautions / Others
U o }\ {§7 -ﬂljv
N =
Hole Clamp
pr J£002 SFA
(mm) SFC
Model No. LZK0400-L LZK0480-L LZK0550-L LZK0650-L LZK0750-L Swing Clamp
Corresponding Model No. | LKW0401 LKW0481 LKWO0551 LKWO0651 LKWO0751 LHA
A 75 85 90 105 110 t:g
B 125, 12.8; 163, 190, 24, T
C 14 16 20 25 32 LG/LT
D 6 6 8 10 1 TLA-2
E 145 16 16.5 21 255 Itii
F R3 R3 R4 R5 R5.5 —
G 12 13 13 17.5 22
H 55 6 6 8 10 -
J 16 18.5 21 24.5 30 [ lkw
K 55 6 6 8 10 LJ/LM
L 2.5 35 6 75 9.5 TMA-2
M 6 0012 6 *0012 6 0012 g *00m 10 +0015 _TMA-T
N 6 +8.012 6 +0.812 8 +8A015 -|0+8.015 12 +8.018 Work Support
LD
Notes : c
1.Material S45C  Surface Finishing : Alkaline Blackening NG
2.1f necessary, the front end should be additionally machined and finished. TC
3.For E Option Blank/H/K, use the attached pin (equivalent to $ ADf6, ¢ AEf6, HRC60) as the lever mounting pin. A Senei
4.For [ Option A, the lever mounting pin is not included in the clamp. Li'frt Cey”lfn'gir
Please order Tightening Kit for Quick Change Lever Option A (LZK[_1-W). LW

5.When using Tightening Kit for Quick Change Lever Option A (LZK[C_1-W), a tapped hole should be additionally machined.

Refer to the link lever design dimensions (P Thread part) for additional machining. Linear Cylinder /

Compact Cylinder
LL
LLR
LLU
DP
DR

@ Accessories : Tightening Kit for Quick Change Lever Option A DS

DT

Model No. Indication Block Cylinder

LZK 040 0 - W el " omwosc
Size 1 Design No. --r -----

(Refer to the table.) (Revision Number)

Centering Vise
FVA

FVD

Bolt
. FvC
Lever Pin

Hex. Socket

Control Valve
BZL
BZT
BZX/JZG
BZS

Tightening Kit for mounting Quick Change Lever Option A.
Sold separately from clamp body. Rod Pin

[Contents of Tightening Kit] Link Lever

+ Cover (with Bolt) + Rod Pin -« Lever Pin

Pallet Clamp
VS/VT

Expansion

Model No. LZK0400-W | LZK0480-W | LZK0550-W | LZK0650-W | LZK0750-W Locating Pin
Corresponding Model No. | LKW0401-[1-A [LKW0481-[]-A |LKWO0551-[1-A |LKWO0651-[1-A |LKW0751-[1-A VFL/VFM
NominalXPitch of Bolt M3X0.5 M3X0.5 M3X0.5 M4x0.7 M4X0.7 VFJ/VFK
Hex. Socket mm 2.5 2.5 2.5 3 3 pull Stud Clamp
Tightening Torque N+m 1.3 1.3 1.3 3.2 3.2 Fp

FQ

Customized
Spring Cylinder

DWA/DWB

674



Link Clamp Index Model No.indication | Performance External Lever Design : Cautions {
Digest P.607 | Cross Section | Specifications Curve Dimensions Dimensions Accessories P.715 ‘ ‘l(,,g,gnﬂgt!(

. . . . . . High-Power
@ Accessories : Tightening Kit for Quick Change Lever Option A Series
Model No. Indication Pneumatic Series

LZK 040 0 - W e—H

Hydraulic Series
Size Design No. ’>

(Refer to the table.) (Revision Number) Valve /Coupler
Hydraulic Unit

Hex. Socket

Lever Pin

Manual Operation
Accessories

Tightening Kit for mounting Quick Change Lever Option A.

Sold separately from clamp body. Rod Pin Cautions / Others

[Contents of Tightening Kit] Link Lever
» Cover (with Bolt) + Rod Pin - Lever Pin Hole Clamp
SFA

SFC
Model No. LZK0360-W LZK0400-W LZK0550-W LZK0650-W LZK0750-W Swing Clamp
LJ0362-[1-A | LJ0402-[1-A | LJO552-[1-A | LJ0652-[1-A | LJ0752-[1-A LHA
Corresponding LJ0482-[1-A LHC
Model No. LM0360-[1-A | LM0400-[1-A | LM0550-[1-A | LM0650-[1-A | LM0750-[1-A t:iv
LM0480-[1-A LT
NominalxPitch of Bolt M3X0.5 M3X0.5 M3X0.5 M4x0.7 M4x0.7 TLA-2
Hex. Socket mm 25 2.5 25 3 3 (TLB-2
Tightening Torque N+m 1.3 13 13 32 3.2 TLA-]

LKA
LKC
LKW
TMA-2
TMA-1

Work Support
LD

Air Sensing
Lift Cylinder

LLW

Linear Cylinder /
Compact Cylinder

LL
LLR
LLU
DP
DR
DS
DT

Block Cylinder
DBA/DBC

Centering Vise
FVA
FVD
FVC

Control Valve
BZL
BZT
BZX/JZG
BZS

Pallet Clamp
VS/VT

Expansion

Locating Pin
VFL/VEM
VFJ/VFK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

690



Features Action Model No. P Performance | External |Lever Design ] ) {
- L s ification Accessories ion
Application Examples | Description | Indication specifications Cautions ‘ ‘ KOSMEK

Curve Dimensions | Dimensions Harmony in Innovation

. . . . High-Power
@ Accessories : Material Link Lever Series
) §DDI - _'F\ Hydraulic Series
u Model No. Indication
Valve /Coupler
E Hydraulic Unit
A
¢TH? @ UH? W C Z O 4 O O - L 2 Manual Operation
Size Design No. Accessories
S (Refer to the table.) (Revision Number)
U " N _€§, _aw Cautions / Others
N o
Pneumatic
N| p*0.02 Hole Clamp
(mm) SWA
Model No. WCZ0320-L2 A WCZ0400-L2 | WCZ0500-L2 | WCZ0630-L2 Pneumatic
Corresponding Model No.|  WCA0321 WCA0401 WCA0501 WCA0631 Swing Clamp
A 90 100 15 140 WHA
B 10 _842 12 _8'3 16 _8.3 19 _8.3 Double Piston
Pneumatic Swing Clamp
C 12.5 16 20 25 —
D 5 6 8 10 e
F R2.5 R3 R4 RS
G 10 13 13 17.5
N 45 6 6 8 Air Flow
p 195 1 25 30 Control Valve
: BZW
R 4.5 6 6 8
S 2.5 35 6 75 Pneumatic
T 5 900 6 902 6 002 g 790" [Expansion Locating Pin
U 5 +0.012 6 +0012 g +0015 10+0015 VWM
0 0 0 0 VWK
Notes : P ti
1.Material S45C  Surface Finishing : Alkaline Blackening Sgs:;:apilrf
2.1f necessary, the front end should be additionally machined. WWA

3.For E Option Blank, use the attached pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60) as the lever mounting pin.

4.For [ Option A, the lever mounting pin is not included in the clamp.
Please order Tightening Kit for Quick Change Lever Option A (LZK[__1-W).

5.When using Tightening Kit for Quick Change Lever Option A (LZK[__1-W), a tapped hole should be additionally machined.
Refer to the link lever design dimensions (P Thread part) for additional machining.

@ Accessory : Tightening Kit for Quick Change Lever Option A

Model No. Indication 5
()
LZK 040 O - W =5
Size Design No. "’> ----- £
(Refer to the table.) (Revision Number)
Bolt
Lever Pin
. . . . . . Cover
Tightening Kit for mounting Quick Change Lever Option A.
Sold separately from the clamp body. Rod Pin
Link Lever

[Contents of Tightening Kit]
+ Cover (with Bolt)  + Rod Pin - Lever Pin

Model No. LZK0360-W | LZK0400-W | LZKO0550-W | LZK0650-W
Corresponding Model No. | WCA0321-[1-A|WCA0401-[_1-A|WCA0501-[1-A|WCA0631-[1-A
NominalXPitch of Bolt M3X0.5 M3X0.5 M3X0.5 M4x0.7
Hex. Socket mm 2.5 2.5 2.5 3
Tightening Torque N*m 13 13 1.3 32

306



Features |Application Examples | Model No. Indication | Performance External Air Sensing | Lever Design 5 . {
. - P ) X . : = Accessories Cautions KHOSMEK
Advantages |Action Description | Specifications Curve Dimensions Option Dimensions ‘ ' Harmony in Innovation

. . . . High-Power
@ Accessories : Material Link Lever Series

Pneumatic Series

o0 §DOI - ng\ Hydraulic Series
Model No. Indication ——
E Hydraulic Unit
A
¢TH? @ UH7 W C Z 1 6 0 0 - L 2 Manual Operation
Size Design No. Accessories
— (Referto following table) (Revision Number)
U " }\ {§ 7a7v Cautions / Others
& E
High-Power Hydraulic
Nlpio.oz Swing Clamp
(mm) LHE
Model No. WCZ0600-L2 A WCZ1000-L2 | WCZ1600-L2 | WCZ2500-L2 | WCZ4000-L2 High-Power Hydraulic
Corresponding ModelNo.|  WCEO602 | WCE1002 WCE1602 WCE2502 | WCE4002 Link Clamp
A 80 90 100 15 140 HE
B 109, 0.5, 1285 16_94 19 .9, High-Power Preumatic
- : . : : Hole Clamp
C 12.5 12.5 16 20 25
SWE
D 5 5 6 8 10
E 12.5 12.5 16 17 22 High-Power Pneumatic
Swing Clamp
F R2.5 R2.5 R3 R4 R5
WHE
G 10 10 13 13 17.5 e
Link Clamp
P 16 19.5 21 25 30 TaE
R 4.5 4.5 6 6 8
S 25 25 35 6 75 High-Power Pneumatic
oo 40072 o012 +0.012 o 10075 WorkSupport
T 57 570 6"y 6" 8 ™y WNC
U 5 +8,012 5 +0,812 6 +8.012 8 +8,015 10 +8.015
Rodless Hollow
Notes : Pneumatic Work Support
1. Material S45C  Surface Finishing : Alkaline Blackening WNA

2. If necessary, the front end should be additionally machined and finished.

3. For E Option Blank, use the attached pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60) as the lever mounting pin.

4. For [ Option A, the lever mounting pin is not included in the clamp.
Please order Tightening Kit for Quick Change Lever Option A (LZK[_1-W).

5. When using Tightening Kit for Quick Change Lever Option A (LZK[__1-W), a tapped hole should be additionally machined.
Refer to the link lever design dimensions (P Thread part) for additional machining.

High-Power Pneumatic
Pallet Clamp

WVS

@ Accessories : Tightening Kit for Quick Change Lever Option A

Model No. Indication »
[ 2
%
— = [ A
LZK 040 0 - W :
Size Design No. T Iz
(Refer to the table.) (Revision Number)
Bolt
Lever Pin
. . . . . . Cover
Tightening Kit for mounting Quick Change Lever Option A.
Sold separately from clamp body. Rod Pin
Link Lever

[Contents of Tightening Kit]
+ Cover (with Bolt)  + Rod Pin  + Lever Pin

Model No. LZK0360-W | LZK0400-W | LZKO0550-W | LZK0650-W
Corresponding WCEOSOZ-TA \ e160-1-A WCE2502-[1-A| WCE4002-C1-A
Model No. WCE1002-1-A

NominalxPitch of Bolt |  M3X0.5 M3X0.5 M3X0.5 M4x0.7
Hex. Socket mm 2.5 2.5 2.5 3
Tightening Torque N°m 1.3 13 1.3 3.2

170



	Tightening Kit for Quick Change Lever Option A (LKA)：LZK-W

	Tightening Kit for Quick Change Lever Option A (LKC)：LZK-W

	Tightening Kit for Quick Change Lever Option A (LKK)：LZK-W
	Tightening Kit for Quick Change Lever Option A (LKV)：LZK-W
	Tightening Kit for Quick Change Lever Option A (LKW)：LZK-W

	Tightening Kit for Quick Change Lever Option A (LJ/LM)：LZK-W

	Tightening Kit for Quick Change Lever Option A (WCA)：LZK-W
	Tightening Kit for Quick Change Lever Option A (WCE)：LZK-W




